®

Lincoln Electric Europe ELECTRIC

THE WELDING EXPERTS®

Part No.
K10429-15-3M
K10429-15-4M
K10429-15-5M

LGS 150G -3.0m
LGS 150G -4.0m
LGS 150G -5.0m

LGS 150 G

Handle cpl.
KP10450-L1

Trigger
KP10450-L2

Swan neck
KP10450-L3

Nozzle support
w/o spring
KP10450-L75

Hex Nut M10x1
KP10450-L7

Coax cable
assembly

3m: KP10450-L8
4m: KP10450-L9
5m: KP10450-L10

PVC body
KP10450-L6

Spring N

LG-140 LGS-150 KP10

. Cable support
Contact tip see table
below 7 Back box KP10450-L11
KP10450-L12
Screw M4 x 6
- KP10450-L13 \
Adaptor nut L Liner
KP10450-L14 See table below
Euro body
KP10450-L15
Nut M10x1 - 2
KP10450-L16
() Part N.
12 mm KP10461-1
l:l]]]]] 16 mm KP10460-1
M6x25 |:[]]:[D 9.5 mm KP10461-6
- 0.6 mm 0.8 mm 1.0 mm
ECu  |KP10440-06 KP10440-08 KP10440-10 I:[DDH 13 mm KP10462-1
CuCrZr KP10440-08C KP10440-10C j:[DIl
16 KP10463-1
Al (Ecu) KP10440-08A KP10440-10A mm
T | X -
I(./I ﬂ' == 1
B:m . N 3m 4m 5m
Stesl liner blue Steel 0.8-1.0 | KP10413-3M | KP10413-4M | KP10413-5M
tee
e —— red 1.0-1.2 KP10414-3M | KP10414-4M | KP10414-5M
PTFE liner blue Sta?r:Lljéss 0.6-0.9 | KP10422-3M | KP10422-4M | KP10422-5M
s — red cuSi 1.0-12 | KP10418-3M | KP10418-4M | KP10418-5M
Aluminum kit (PTFE /bronze) Alu,
N —— red Stainless, 1.0-12 | KP10419-3M | KP10419-4M | KP10419-5M
CuSi

www.lincolnelectric.eu

09-2013



Maintenance and User Manual

Warning: Risk of electric shock!

Always disconnect the welding machine from the line power before
maintenance, inspection, or exchange of spare parts.

Precautions

www.lincolnelectric.eu

09-2013



